" WRITTEN EXERC

Throughout the exercises,

give angle measures to the nearest tenth of a degre,

and lengths to three significant digits.

A B

o andeg = 18sFindub-andsc
_o0°, ,B=25anda=1
In AABC, LA =9 = 27. Find ¢ and r.

2. In APOR, LP = 90°, LQ = 64° and p . ;
3. In ADEF, LD = 9p°, LB =125 and e = 9. Fl'nd d and f.
4 InhXYZ, LX =90, 2Y=37%and z = 25. Find x and y. \%
iaoram at the right to find:
> Esesi:lildlagra b%r cos B c. tan A T 1 /
d. cot B e. sec A e 6sC B Ex5 -
6. Sketch AABC with £ C = 90°. What is the relationship between:
a. sin A and cos B? b. tan A and cot B? c. sec A and csc B

10.

11.

12.

. Find the measures of the acute angles of a 3-4-5 right triangle.
. Find the measures of the acute angles of a right triangle whose legs are 9 cm

and 16 cm long.

. The legs of an isosceles right triangle are 1 unit long.

a. Find the length of the hypotenuse in simplest radical form.
b. Use part (a) to find the exact value of each of the following.
(1) tan 45° (2) sin 45° (3) cos 45°
c. Use a calculator to convert the answers in part (b) to decimal form. Com-
pare these with the values of tan 45°, sin 45°, and cos 45° obtained directly
from the calculator.
The hypotenuse of a 30°-60°-90° triangle is 2 units long.
;. Ilzjind the ler}gths of the legs in simplest radical form.
. (ls)e sll)sr; (()3) to ﬁrzczl)ths?ne)gggt value of each of the following. g
(3) tan 30 (4) tan 60

Use atlhcalculattlcl)r to convert the answers in part (b) to decimal form. Com-
pare these with the values of sin 30°, sin 60° 5 g 0%
directly from the calculator. 7tan 307, andigi60° obtaine

Using graph paper, draw a horizontal
segment AC of length 1 unit and a verti-
cal ray CB, as shown. Then use a protrac-
tor to draw segments that make angles of

g, 20% ..., 80° with AC. Find G
th, oy (;Bg_ by direct measurement,
atis the significance of these lengths?

Refer to the dia.
_ gram that you dy :
Exercise 11. Note that Z_CZI‘XBZ Zegﬂéfgz

e as daree as 204D, = 100 1 o5,

b




13. Aviation An airplane i

at .
35,000 ft when it be an elevation of

. 5 anole of
€InSs 1ts approach - ) angle o
port. Its angle of descent is 6°.p i e e
a. What is the distance between the airport and : £6° =
the point on the ground directly below th 135.000 ft b
airplane? % : airport —-

b. What is the approxirpate air distance between the plane and the airport?
What assumptions did you make in finding this distance?
14. Navigation A lighthouse keeper observes that there is a 3°

between the horizontal and the line of sight to a ship. If

above the water, how is_the ship from shore?
angle of ¥

angle of depression
the keeper is 19 m

—___ Ydepression_ ) S
T AR g5t o T Ao pgineld BE
19m 18 1t/
l Ship 50 ft N
Ex.14 Ex. 15

15. A student looks out of a second-story school window and sees the top of the
school flagpole at an angle of elevation of 22°. The student is 18 ft above the
ground and 50 ft from the flagpole. Find the height of the flagpole.

16. For an observer at point A, 250 m from a
 building, the angle of elevation of the top
of the building is 5°. In Chapter e e ST A = -
said that AABC is about the same as a
sector with central angle A.
a. Use the arc length formula
press 6 in radians.).
b. Use right-triangle trig
answers.
17. Find the measures of the

and 8. Also find the area of the triangle.

m *

: L8 i,
r e P4 and PB are tangents to a circ
i 19. In the figure at the right; £ A

A
e .y
with radius OA = 6- If the measure of L APB is 42°, fin P
PA and PB.

s=r0to approximate BC. (Remember to ex-
onometry to find BC more accurately. Compare your

i i ides are 6, 6,
angles of an isosceles triangle whose sid:

; ” 6)2 e 8)2 = 9 and the twoft?hn- B
28, Sketch the m-c%éxfrom the origin. Find the measuseion e Ex. 19
(¢
gents to the gthe tangents-
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